SmallRig

Mobile Video Cage for Samsung S24 Ultra

£ S24 Ultra ERERIE

Operating Instruction / #{E#55|




- Thank you for purchasing SmallRig's product
BSEIEE SmallRig 7.

- Please read this Operating Instruction carefully.
ERAFRZE, BFEDERFEES.

- Please follow the safety warnings.

BRI B ESIRNITERERRIERSINMEES.
Introduction / F=gfE N

Welcome to the all-new SmallRig Mobile Video Cage for Samsung Galaxy
S24 Ultra, which provides a professional and convenient solution for Galaxy
S24 Ultra users to shoot video and live broadcasts. The cage is exclusively
designed for the Galaxy S24 Ultra, which does not affect the phone's
buttons when shooting, and provides a tight fit for the mobile phone with
all-round security protection. With the cold shoe mounts and 1/4"-20
threaded holes on the frame, the cage allows you to easily attach the lights,
microphone, tripod, side handle, top handle, and other equipment when
shooting on mobile phones. When connecting with the side handle/ top
handle/ tripod, this cage is not only compatible with conventional products
attached by 1/4"-20 screw but also supports SmallRig's new Quick Release
Ecosystem, which is convenient, fast, stable, and efficient. The cage also
offers users a variety of solutions for lens and filter mounting, allowing for
connection to T-Mount lenses, 17mm threaded lenses, 67mm filters by
installing different backplate.

WlfERLHSmallRig =2 Galaxy S24 Ultra ERRRAE, AN Galaxy
S24 UlraFl PAIRIB A BB IR S W B BRNMAS R, ZIRRIER
Galaxy S24 Ultra @&, HBNARMFVIREER, BEAFN
REZBMANEHURSRY, BIER LEHOM1/4"-20 1257,
ERIEEFIIRENTSIFRR. £RX. ZHE. NFRE. LFRS
RE&, BEFHFRENSHRRERRNGS. TRRFW/ LFIR/=HR
B, REAXTHRBEM/4-20 BLEZENFR/ EFR/=MR, X
SmallRig £FHIRIFES RS, HERE, REBN. ARt hBPRE
TEENRIMBEERNBASR, TBIREAFNTREETRO
FEsk. 17mm BBEEESk. 67mm IBEE37Tmm BAEESL (BBW) .




In the Box / 3555
Cage

T-Mount Lens Backplate

17mm Threaded Lens Backplate
Attachable Filter Adapter 67mm
Operating Instruction

Guarantee Card

Product Details / ==RNE

x 1
x1

x 1

x 1

x1

HhEIE

TROFLER

17mm R8RSR
67mm BEIR R ER AL R
BIEHES|

RE+

=5
®

(4

@ Volume Button
=3l R

@ Backplate Slot @ Quick Release Slot
IR BE HRIFRIE

@ S Pen Hole Cold Shoe Mount
S Pen #Liz ‘O

@Screen Lock / Unlock ® Wristband Hole

BRIl

x 1

x 1
x1
x 1

x1

(8) 1/4"-20 Threaded Hole

1/4"-20 8407,

@ Lock / Unlock Button

ERatied




Usage / &g EA

. Mount the Phone: Press the unlock button on the left side of the cage,
open the cage, and slowly slide the phone into the cage. Then close

and press until you hear a "click” sound, indicating that the upper and
lower parts are locked.

REFN: REMOURE, TFHRRELS, BFNERBNBRETE,
WEE LFHRERRELZEZ RN KIS, RBWRELTEEML,

N

=

Press rﬁ‘;J
RE




2. Advanced functions: There are multiple standard 1/4"-20 threaded holes
on each side of the cage for extending side handles, top handles, and tripods
with 1/4"-20 screws. There are two standard Cold Shoe Mounts on the cage,
which can be used to attach the light, microphone, and other equipment with
the cold shoe.

2. fERINRE: TEIRRIEMDIER D BIBITME/4"-20 $8507L, TR
V420 EEREMFR. EFRM=FR. AREG2MIESHO, BT
BRLOSHOEZ AT . ERNFRE.

|

* The handle is sold separately
* AEA R




3. Quick Release: There is a Quick Release Slot on each of the four sides of
the cage frame. The Quick Release Slot interfaces with the 1/4"-20 threaded
holes on the cage, expanding SmallRig's unique Quick Release Ecosystem.

3. BRIFHAR: EIRREDDIER EDRIB1MRIFFE, FESER LN
V4"-20 BEFUEERS, SJHRSmalRigREIRIFES RS,

® Quick Release Lock: As shown below, align the Locating Pins on the Quick
Release Adapter with the upper and lower 1/4"-20 threaded holes on the
cage, and press the side handle (Note: No need to press the Unlock Button
simultaneously). There will be a “click” sound, indicating that the side
handle has been successfully locked into the cage.

o BRIFBARE: ASIRIFECESL ER0E AT RAE L6 ETFAN/4"-20
BOL, MEZRENFR (R THZERHRE) EERIFEE
RUEIRIE A, RP\EFISMIDBINRIFFIE,

Quick Release Slot

BRIFFAE

+The handle is sold separately
* FEALES




4. Install Filters: Install the filter adapter on the backplate slot to use external
filters. There are 2 stops on the backplate slot to ensure no vignetting
during shooting. Slide the backplate to stop 1 when using the wide-angle
lens, slide the backplane to stop 2 when using telephoto lens.

4 RERE: TRREFRAER L2RRREIEER, Mo ERASMNERER.
ERREE RN RIERERERAESRAERIEDRI A =4ERER,
BRI ARLHTREN, BRERBFERERT OVE, R
KEFSLHTREN, BRERBHNHEEEFU2 E.

\\ | Filter is sold separately

* AEERE

Stop 1 (#4417 1)
No vignetting in wide angle lens
I RELEERA

The Wide-angle Lens

Stop 2 (#4{i 2)
No vignetting in telephoto lens
KRR TER




5. Attach an External Lens: The backplate slot on the back of the cage allows
users to attach the external lens while shooting with the mobile phone.
Attaching external lenses of different sizes can be achieved by replacing
the lens backplate or adding adapters. At present, the SmallRig Galaxy S24
Ultra cage supports T-mount lenses, 17mm diameter threaded lenses and
37mm diameter threaded lenses. The cage comes standard with a T-mount
backplate and 17mm threaded lens backplate, 37mm threaded lens adapter
needs to be purchased separately.

5. REIMEGL: BURRETINELDR, JEFIREBIIRRIMNE
Fosk, ERARIEIIMNEREL BT BRELEIR, SRS,
H#iSmallRig Galaxy S24 UltraBaBIESIFIMET-R Ok, 17mm 184L
FISLAN37Tmm 1RLESL . RRAEAREL T- R OB ERR 1 7mm $840R L
BEIR, 37mm FSLEEHIR T RIREN

Using 37mm Backplane

Install T-mount Lens (backplate and lens is sold separately)
(lens is sold separately) {EFE37mm EE5L R
LERTRORL (FLFESM) (BRIMFLFERE)




6. Replace the Lens Panel or Filter Adapter: Align the lens backplate or filter
adapter with the backplate slot at the back of the cage, slide the backplate
along the mounting groove until you hear a "click” sound, indicating the
backplate is securely in place. Proceed to install the lens or filter for
shooting. To remove the backplate, gently push it in the opposite direction
from the bottom of the backplate along the mounting groove, then continue
sliding to detach the backplate. For replacing the backplate, follow the
above installation process to remove the existing backplate and slide in
the replacement backplate into the mounting groove.

6. RERBRFLEIRABFRIFR: FRLSRNBEE R TTIRRIE
BENZEE, BRFESAUABREERE RS, BABRSE
A, BEZRFLREETH TR, WHERTER, TNEREE
RLZFBRA AR, AEREBNNTER. NHBERNELLREY
R, EREARZESXMTREER, HETEERNERBARRIE
LARIERNT],

67mm Attachable T-Mount Lens 17mm Mount Lens
Filter Adapter Backplate Backplate
67mm BIEHREIR TROHELER 17mm SBEUESL TR

Note: The T-Mount backplate is only compatible with M brand T-Mount lenses and is not
compatible with FotorGear series lenses.

& TRATRIKEMBETRORL, FREFotorGearRIIGk @,




WATHRE: GBIT 26572-2011 www.smallrig.com

C€ RoHS ®

LQ-P1275-18

PAP
Made in China E
I

PEFIE




